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SECTION - A

1. AT e #&ar 1 ¥ 25 # 9R) [Qeeq § Oad @ Faad s & 9
3 81 W faFed T g #Y v -7 7 Rffaa &

1. {d giFd T qdlId & 9Ied JFafd T Fgl Sl §
(a) Ry

2. GRIG & AT FT 3T &
(a) dofrera =T

(b) 3TEII =T

(c) =19lq =IT

(d) TUAT 3T I
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3. AEET Holg T AUl # ASEN H 38h @RT B &l & a5 A
Tfr o sure fear SRem

(@) 5%
(b) 6%
(c) 8%
(d) 9%

4. AR FHSA & AT H HISIGRT T Yol W SIS AT SIrem
(a) 5%

(b) 6%

(c) 8%

(d) 378 & g el

5. <ol Wl &

(a) STTFAITT Wl

(b) arEafas @rd
(C) SATHATT WTAT

(d) 3571 & I 7t

6. HISIGRT & 3MEI0N W sATST AH Tohdm ST B
(a) HTSERT T Yair @rer &

(b) oIl @Wrar #H

(c) 3TEXOT @iar H
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(d) Geis{eTeheT @I &
7. WIERT &I Yol W &I =Tl FTRe foham e &
(a) SITH-gIT @rar H

(b) ageT QT H

(c) wImeT-gIfer ferairotet &TaT H

(d) Geis{eareheT Qe H

8. AT oITH T aTEdideh ollé I HTTUFT FHgolldl ¢l
(a) 3TframsT

(b) FATRTa amer

(c) AT ol

(d) TTAT TS

9. AR B 3: 1% 3Hqad & e fqeTelel X §T SR &1 I C
HIAST & oSy A 1/4 TREAT Coht T A §| T e TIHTST 3o g1am

9 3 4

(b) A~:B~:C—
16 16 16
10 2 4
(C) fl;g .E?Ig .(jig'

d) AZ:B=>:c2
16 16 16

10. X 3R Y 3:2 & 3He[ure # ome7 diecd §1 Z 1 1/5 #67 & fod amslen
ST A1) Z X |/ 3/20 &fdr & 3R Y & 1/20 AAdr g1 ar 21 oner e
3feTard g1em

(a) 9:7:4
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(b) 8:8:4
(c) 6:10:4
(d) 10:6:4

11. A 3R B 3 : 1 & 3equrad & el 3R griwrat & sied &1 C &1 % feear
& ford Argiery & yaer fear Srar §1 A 3R B T N7 U &

(a) HHTT
(b) 3:1
(c) 2:1
(d) 3:2

12. Yeis{edichel @I # &ATH Y&T W STAT U&7 &l T g

(@) ot

13. A, T9d AR 9% 50 3 : 2 & 3Iad # oMt A Sed §U AR
&1 I fader 3TaR1A TAGUT FIAT g, df JTAVE 3R o9 & AT 731 IH
fqersta 3reareT gram

(@) 3:2
(b) 5:3
(c) 5:2
(d) 357 & FI5 Tl
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14. TR TEIER & HIHRA TEUT el U 3TTHIT AEUT Il dlel ABER &
Yol TTaT & STAT fohar STrem

(a) 3THT / 3TF TIfT & BET
ORLEIRSUGE:]

(c) AV HZERT Hr Taifa & fgeq @
(d) 395 & g =gl

15. X, Y 3R 22,7 3R 1 & 3qard F st o e ) €1 Z B Ay
B STl 81 X 3R Y &7 o241 35eqard glem|

(a) 3:2

(b) 2:3

(c) 2:1

(d) 317 & g Tl

16: agel T §

(a) cTfFderd @ra

(b) ATHATT @raT

(c) arEdides @rc

(d) 3571 & I 7t

17. ®H & AT W gl dTof TT & Hgd ol
(a) THe =TT
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(b) FITeAT =TT
(c) BT I
(d) 373 & FIg LT

18. Ueh FHFTUAT 9oy 37AT &l WMATHT W AR HFuar JAFIeT 1956 &r
fFE 9RT & 3T SIRT FLAT § ?

(a) 78
(b) 79
(c) 80
(d) 81

19. ROMYE, S & AW Y F ool W gEAAR 81 S d 8, Fg S &

(a) Tallhd HUTTH

(b) IYUH FoTaA
(c) drgeh FOTIA
(d) 3187 @ @IS ALt

20. Qs & AFCYA & ITAR FhEY HFTT Y MU & g KUTTA! S AR &
fohctel IRl & HUTTT e PV HT Folol AT BT 2.

(@) 40%
(b) 50%
(c) 60%
(d) 70%
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21. Gel 961N & %7 6T a1 HOMTET 1 I T g g fhar SIrar g o
T5 &

22, Tel WFARY 3 NS G &
(a) T@form
(b) s
() &R

(d) FR

23. JoATcH® Taaon i Tg W Fgd §
(a) fopamelrer faeeiwor

(b) &faer fageivor

(c) Fgad fagervor

(d) STET fageryor

24. 3MMERY 3Fel GETOT I B
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25. Uhs Yarg fqavr IR fRar Sirar &
(a) 3ndes facer @

(b) <TeT gl @rar

(c) faRed ga=m |

(d) SAH & &I

11. TAFATal@d 92T . 26 @ 30 # a1 Y QU 1T § (FUA | & dIg KA
1) | 3T ST YT I €T § Ug dUT GU a0 fadhedt 7 & Tar fadheq o1
3d difaaT # RfEaa 1 :

(a) ST YT FEr & dAT HUA || YA | FHT TET ATEAT §

(b) &l YA HET § W YA || HYT | I TS ATET 6T &

(C) U | HE 8, e FYUA Il el &

(d) U | el §, W HUA Il FET 8

26. Y-l : TIT Teh TIAT J&ITT &
U || : TIfa aEdides FatT dg7 2

27. Y| . FEARHAT & Hed H HAl TAediehad W gl ¢
HUA-Il : FFEAAT & Hod H hAl Geld{odiched T o1 B

28. HYA-| : qaIfeR 3T 9 arener AfRad g gar g
HUA-1l : AT 37AT W e Ff¥TT ALY gaT B

29. YAl : e T AU 2:1 &

FUA-Il : IEY A I 1:1 T
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30. Y-l : 3G AT T 2:1 8

HUA-Il : e =T AT 31 B

Il efaf@a gt T&ar 31 ¥ 34 d& H & Ficd 6 I g1 Plaa | H
IR 99 &, folelsh 38X &l @l || 7 §F 7= IR faeq (a), (b), (c) T
(d) & & el §

PlTH-| ictH-Il

31. oIW@Iehed HAlAh- 3 (a) 2:1

32. 3TEeT °Te] 37eUTel (b) 37cd =TT

33. R gFafy (C) BEAT kg

34. T1e] aIfdcd (d) Vs Yarg faexor

V. faFafaf@a uest d&ar 35 & fov ue 3¢eR0r f&ar arar g1 J9got Ued
3CENOT I €A § IS, dcadld 6 I oflef IR&AT &l ¥l 3 e o
faed 7 & i1 A AT woeT Gr-ar 3F F §

35. 3CLRUT: U YA SIaH &l U §AT & 3Hadd 7 a9, 9ffefer 3
faEqc caadrT TEl T o1 gl ST g1 I§ FadT Al o T
STGHT T Jolell F 37Teh T FAE H HGIAT AT §| AGiehal F TH 18
& Afgs Aeg & ‘Tfa wed g

I Teh 3T FFafd A STy 81 g@ sal A, T fhdr wat
yfefd 1 AT Aed & SEd &6 98 39 cHawy 7 79l g5 3 sHsAt
garT AT Y 9 AT e B 39eT e e Hiod T B
AT IE @ T § o 59 wF afed wafa & A &1 e HXar §
dl 98 I 38 AT yred A A Ul F ugdr & &

Eaifd a8l faegaATe gefl 39 & AT arsl & A8 o Aod Hd g
o w7 7 g1fe & W & a1 AT 1 @ W@ g 30 B A Efa A6 8
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. SR $r g™ & Alifgd FAed F Fed Bl
(a) &aIfa
(b) 31feremsr

Il. =i &

(a) @Te] FFITT

(b) TuR=r Geula

(c) A FFafa

(d) 3ETAT TIRY FFIT

1. Efd af 3cdeeT 8T § SId B o Jfad Hdar gl

(a) IFHHATT oIt

(b) THITIFRT ATH
(c) HIGHT oreT
(d) 3rferemsT
SECTION-B
PART- A

1. qait [Afer a1 § 2 gHehr a0 fohd SehR T STt § 2
2. IoeT FAT § ? ST 0T fhg g i St § 2
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3. frdY AsieR & o T IIRUET o T Far 3T § ?
4. A FAT § ?
5. 9Tt 3R ST WIAT TAT Aehs T61 H IR AT

6. fhel AR & IHTHRN FEUT Fel R AWhad FAM-10 &F AR TIMA &
SIGEgR I qeufcral & auled |

PART- B
7. TTH-gITT SISt @Tar a1 § ?

8. 3ifelel 3R eller sharer: 40,000 To AT 30,000 %. MR ASERT &
FiFAfId §T 3R 3 1 2 & 3eIdId H A HT §CaRT IR g1 Feilel 1 4,000
To gMNeh dcel ol T STAEAT &1 A & NIl ifelel & 3,000 & TAT Follel o
6,000 & T 3MgoT faham ford X saTsl A 50 o AT 70 % &1 Yol W
6% dTiNeh TS S &l cTGEAT §| Iugerd HASTAN & g 10,580 To oret
AT| FA8Y foh o &7 dcdRT &y fhaAT ST/ ? https://www.bsebstudy.com

9. ALM: 16,000 & dUT 12.000 ¥ Yol & &Y X 3 Y AHER &1 3T o
o BH & ol H Th-ulus BET & @Y Z @l g AT g1 Z 306l Yol &
T F 16,000 To T gl BH FH TFMA dUT Z & §Eq $r Tanfa §r avren
HIfaT

10. AAB,C,DIRE U B A HAW 7 :5:3:3: 2 % 369 & e
faaTTstel oY §U ATHIER &1 C ATSIENT & 3aehier Jg0T em &l A, B, D 3R
E %A 6 :5:5: 4 & o I 3He]Uld R A9 HgATT ol 81 A
ASERT T o1 GiaRrd 391 AerfaT|
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11. A, B3R C2:2: 1% 3euid & «msil I sled §u Argier 4| B &
31 #AMd, 2010 & #F & T @i 31 QR &1 &g v S A a¥ 2009
$T For TAHT 6,00,000 To o 3R ey =1 60,000 T. AT| 1 FeAad, 2010 &
31 &, 2010 T #T For AT 2,00,000 To | FI VSR & GEH & e
$I VT AT

12. Teh FFYal & Harele o 100 ¥ 9fd 3720 arer 5,000 3721 & for g o 80
To ATAT FI IR 2ff, STed I o T AT fRAT| 3 37T FT URSF JUH
=T 9T 30 To fd 37er 3R 3T\ Ireer 9 20 To Uid 37" T T el
forar| 312t fr Stedr &1 Ust=Arar gfafse Hifav

13. X fafAes & 31 A, 2010 & 96 . Tcds H & ¥ 30,000 Fo AHAT
AT & 12% ROTTAT &l &g A & [T TeEr| o7 HOMEAT W sdrel Jiday
30 ST 3R 31 feHeR &l feam Sar g1 HOT9Al 7 aredides Hed fAshraw
i Hed 3EEROT (i) sareT Ugd AR (i) sarsT Wi &1 RO9HT &1 3ifehd Hod
100 %o g

14, 1 IR IRTEYTAAT ST ST BH AT YI6e 8 STl gl

15.M3ﬂ¢N3:2a:34§maﬁaTaﬁafra“’mﬁ§Ua@mﬁ|%waﬁr
fafr &Y 3e1hr it &Yl M: 7,650 %o, N: 4,300 Fo 1 @eigR 27,500 %o & |
Ah &1 AT 760 To AT| FFIMAT & 25,430 Fo qH gUI fquest & =77
1,540 & & T AsigR Arere g |

I TrdT, gefl @I 3R Ahg Il ol §T Ba hT TEAhRT FY doc; Y
HIfT |

3rdar
T W fh Fgd & ? IHeA TIeT HT IwT FA13T |
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16. A, B 3R C shaen 3:2:1 & 3efurd & ensdl 3R gifadl 1 sied gv
ek ¥ B o g3l FEerT & Sfiiged WX 3eEr-37e9T §1AT- A &7 20,000 &,
B @7 15,000 To IAT C F 10,000 Fo FHAT| WNIFAIA FI ATH-gIT WIaT &
g foham arar ar| 31 fqEFsy, 2011 & Yedsh AT & AU Hod
ST TR &1 50% AT TR Jsier=n gfasedr g g A 1 7
31 fedeR, 2011 & & Sy § 3R B dar C #fasy & o= ffRear o g

3@, fohdl AER & YA & AT FAT FEAAr AR TR 1 qeasediehe
39T Il I Hellg 3T ¢ar ? I ¢ar o 4 ? a@egdl # sd3%
HeIAgRT &l JUI hIToIT|

17. IRar faf@es & 100 To 9fad 3721 arer 2,000 3727 SoIdr & Hafaa feo
S o T 9hR T & @ 20 o g W, 40 Fo e W AR 40 Fo JIH
3R 3fead T o 2,500 37 & fAU 3mdesT 9 3y A| e
3 iR 1 9A9T e & O fmar ar=ar ar| g3hy ¢ ufdar ganfafer
red IRt il GRer faffies & gEawt & Asiemrn gfasear i)

3dar

ROTGAT o (AT & el H AT W FohRr TUT IAH =l HT ATl R
feoqoft @]

18. =Tef 3eqaT 3:1 T caRel 3eqard 1.2: 1 g1 Ife srieirer gair 1,80,000
T I, ol dlef &fdca Td Tleh &l 0T HTAT|

3r2qar
Uehs yarg f9avor = § 2 38 F¥ IR fhar Srar g ?
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BIHAR BOARD QUESTION PAPER

INTERMEDIATE EXAMINATION - 2012
sevHIfBue gdiem - 2012

(ANNUAL / arfés)

ACCOUNTANCY
Time: 3 Hours 15 Minutes [Full Marks: 100

SECTION-A

I. In the following Questions Nos. 1 to 25 there are four options of which only one is
correct. You have to choose the correct option and mark in the answer sheet.

1. Money received from a dead man's legacy is called
(a) Legacy

(b) Honorarium

(c) Donation

(d) Subscription

2. Payment of honorarium to secretary is
(a) Capital expenditure

(b) Revenue expenditure

(c) Cash expenditure

(d) Deferred Revenue expenditure

3. An interest is to be given a partner to the firm in the absence of partnership deed.
(@) 5%
(b) 6%
(c) 8%
(d) 9%
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4. An interest on capital will be given to the partners in absence of partnership agreement
(@) 5%

(b) 6%

(c) 8%

(d) None of these

5. Current account is
(a) Personal Alc

(b) Real A/c

(c) Nominal A/c

(d) None of these

6. Drawings of the partners debited to
(a) Partners capital A/c

(b) Profit & loss Alc

(c) P & L appropriate A/c

(d) Revaluation A/c

7. Interest on partner's capital is to be credited
(a) Profit & loss A/c

(b) Realisation A/c

(c) P & L appropriation A/c

(d) Revaluation A/c

8. Excess of real profit on general profit is called
(@) Surplus/ excess profit

(b) Definite profit

(c) Abnormal project

(d) General profit
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9. A and B are the partners of profit is divided in 3 : 1. They give a i part of profit in
future and admitted in. New profit distribution ratio is

(@ A—=B-C—
16 16 16
byAZBLcL
16 16 16
10, o 2 .~ 4
(C)/\IE.ESIE.(:IE

dAB=2c2
16 16 16

10. X and Y are partners of profit into 3:2. Z become partner for %share Z takes from X
%and fromY %Then new profit ratio is

(@) 9:7:4

(b) 8:8:4

(c) 6: 10:4

(d) 10:6:4

11. A and B are the partners and divided their profit and loss in 3: 1. C has to admitted in
. 1 . .

partnership for Zshare. Remaning ratio of A: B

(a) Equal

(b) 3:1

(c) 2:1

(d) 3:2

12. Excess of credit side on debit side in revaluation A/c
(a) Profit

(b) Loss

(c) Received

(d) Expenses

13. Abhishek, Rajat and Vivek are the profit partners in 5:3: 2 ratio. If Vivek retired from
partnership then what is the new profit division ratio between Abhishek and Rajat:
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(@) 3:2
(b) 5:3
(c) 5:2
(d) None of these

14. When a partner retired from partnership then the capital A/c of retired partner is to
credited to

(a) His/her goodwill's

(b) From firm's goodwill

(c) From remaining partner's goodwill
(d) None of these

15. X, Y and Z are the partners divide profit in 1/3, 1/3 and 1/6 ratio, Z died. New ratio
of X'and Y will be

(@) 3:2
(b) 2:3
(c) 2:1
(d) None of these

16. Realisation account is
(a) Personal Alc

(b) Nominal A/c

(c) Real Alc

(d) None of these

17. Expenses at the time of firm's end is called

(a) Realisation A/c

(b) Legal expenses
(c) Lossess expenditure
(d) None of these
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18. A company issues his shares on premium at Indian companies act, 1956 in which
section ::

(a) 78
(b) 79
(c) 80
(d) 81

19. Debentures which is only given and becomes transferred is called
(a) Authorised debentures
(b) First debentures

(c) Bearer debentures
(d) None of these

20. According to SEBI's advisory how much % be originated to redemption of
debentures fund by any company before redemption of debentures?

(a) 40%
(b) 50%
(c) 60%
(d) 70%

21. In open market purchase of debentures can't be cancel immdiately it is
(a) Current assets

(b) Current liabilities

(c) Investment

(d) Capital

22. It is not included in current assets
(a) Stock

(b) Cash

(c) Debtors

(d) Cars

https://www.bsebstudy.com



https://www.bsebstudy.com/

23. Comparative analysis is also called
(a) Working analysis

(b) Vertical analysis

(c) Horizontal analysis

(d) External analysis

24. Acid test ratio is
(@11
(b) 1:2
(c) 2:1
(d) 2:3

25. Cash flow statement is prepared
(a) By balance sheet

(b) By profit & loss Alc

(c) Additonal information

(d) None of these

I1. In the following question nos. 26 to 30, there are two statements (statement | follows
statement Il). You have to go through these statements carefully and mark your answer
from the given options in the answer sheet:

26. Consider the following statements:

Statement-1: Goodwill is a visible assets.

Statement-I1: Goodwill is not fictitious asset.

Of these statements:

(a) Both the statements are correct and statement Il is correct explanation

(b) Both the statements are correct, but statement 11 is not correct of statement 1.
explanation of statement I.

(c) Statement | is correct, but statement Il is wrong.

(d) Statement | is wrong, but statement Il is correct.
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27. Consider the following statements:

Statement-I: Decrease in the value of asset is a loss on revaluation.

Statement-I1: Decrease in the value of asset is a gain on revaluation. Of these statements:
(a) Both the statements are correct and statement Il is correct explanation of statement 1.

(b) Both the statements are correct, but statement 11 is not correct explanation of
statement I.

(c) Statement | is correct, but statement Il is wrong.

(d) Statement | is wrong, but statement Il is correct.

28. Consider the following statements:

Statement-1: Dividend on preference share is not fixed.

Statement-I1: Dividend on equity share is not fixed. Of these statements:

(a) Both the statements are correct and statement 11 is correct explanation of statement I.

(b) Both the statements are correct, but statement Il is not correct explanation of
statement |.

(c) Statement | is correct, but statement Il is wrong.

(d) Statement | is wrong, but statement Il is correct.

29. Consider the following statements :
Statement-I: Ideal liquid ratio is 2: 1.

Statement-I1: Ideal liquid ratioi is 1: 1. Of these statements:

(a) Both the statements are correct and statement Il is correct explanation of statement I.

(b) Both the statements are correct, but statement 11 is not correct explanation of
statement 1.

(c) Statement | is correct, but statement Il is wrong.

(d) Statement I is wrong, but statement Il is correct.
30. Consider the following statements:

Statement-1: Ideal current ratio is 2: 1.

Statement-I11: Ideal current ratio is 3:1. Of these statements:
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(a) Both the statements are correct and statement Il is correct explanation of statement 1.

(b) Both the statements are correct, but statement 11 is not correct explanation of
statement 1.

(c) Statement | is correct, but statement Il is wrong.

(d) Statement | is wrong, but statement Il is correct.

[11. In the following questions nos. 31 to 34, there are two columns Column | contains 4
guestions. You have to match the correct options Column-11 of these questions as (a),
(b), (c) and (d) from column-II:

Column-I column-II

31. Accounting standard-3 (@) 2:1

32. Ideal current ratio (b) Outstanding expenses
33. Liquid assets (c) Cash in hand

34. Current liability (d) Cash flow statement

IV. For the following question no. 35 a paragraph is given. You have to first go through
that given paragraph carefully and then answer the following three questions by
indicating correct option. These three questions carry two marks each:

35. Overperiod of time, a well established business develops an advantage of good name,
reputation and wide business connections. This helps the business to earn more profits as
compared to newly set up business. In accounting the monetary value of such advantage
Is known as ‘goodwill’. Goodwill is regarded as an intangible asset. In other words
goodwill is the value of the reputation of a firm in respect of the profits expected in
future over and above the normal profits earned by other units. It is generally the
observed that when a person pays for goodwill he/she pays something, which places him
in the position of being able to earn super profit.

Goodwill exists only when the firm earns more profit than normal. Any firm that earns
normal profit or is incurring losses has no goodwill. https://www.bsebstudy.com

I. The monetary value of reputation of the business is called
(@) Goodwill

(b) Super profit

(c) Abnormal profit

(d) Surplus

Il . Goodwill is an/a
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(@) Current assets
(b) Fixed asset
(c) Fictitous asset

(d) Invesible fixed asset

I11. Goodwill exists only when the firm earns
(@) Abnormal profits
(b) Monopolistic profit
(c) Seasonal profit
(d) Super profit
SECTION -B
PART - A
1. What is capital fund ? How it is calculated?
2. What is subcription? How it is calculated?
3. What is meant by guarantee of profit to a partner ?
4. What is shares ?

5. Differentiate between Receipts and Payments Account and Income and Expenditure
Account.

6. Describe accounting treatment of goodwill according to AS-10 to any retiring partner.

PART - B

7. What is profit and loss appropriate account?

8. Anil and Sunil are partners with capital Rs. 40,000 and Rs. 30,000 respectively and
share profits at 3:2 ratio. Annual salary of Sunil is Rs. 4,000. Anil and Sunil withdraw
Rs. 3,000 and Rs. 6,000 at the interest rate Rs. 50 and Rs. 70 respectively during the
year. 6% annual interest on capital is allowed. Rs. 10,580 was profit before above
adjustments Determine how profit will be distributed.

Xand Y are partners with capital Rs. 16,000 and Rs. 12,000 respectively They admit Z
giving him 1/4th share in profits of firm. Z brings in Rs. 16,000 as capital is allowed. Rs.
10,580 was profit before above adjustments. Determine how profit will be distributed.
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10. A, B, C, D and E are partners share profits in the ratio 7:5:3:2 respectively. C is
retiring from partnership. A, B, D and E are agreed to share profits in the ratio 6: 5:5: 4.
Calculate the profits ratio of partners.

11. A, B and C were partners sharing profits in the ratio of 2: 1:1. B died on 31st March,
2010. Accounts was closed on 31st Dec. In year 2009, total sales was Rs. 6,00,000 and
net profit was Rs. 60,000. Total sales was Rs. 2,00,000 from 1 Jan. 2010 to 31st March,
2010. Calculate the share of profit of dead partners.

12. A company issued 5,000 shares of Rs. 100 each in which Rs. 80 application, that is
forfeited. Shareholders of these shares did not pay the first call of Rs. 30 each and final
call of Rs. 20. Give Journal entries of forfeited shares.

13. X Ltd. purchased 12% debenture Rs. 96 per Rs. 30,000 at par for cancellation 31st
March, 2010. The interest has been given on 30th June and 31st December. Find out the
actual value of if (i) without interest and (ii) with interest. The final price of Debenture is
Rs. 100.

14. Write four conditions when firm is reconstituted.

15. M and N were the partners in the profit ratio of 3:2 on the date of dissolution. There
capitals were M-Rs. 7,650, N-Rs. 4,300. Creditors were Rs. 27,500. Cash at bank Rs.
760. Realised from assets Rs. 25,430. Dissolution expenses Rs. 1,540. All partners were
redeemed. Prepare realisation accounts, capital accounts and cash account to close the
books of firm. https://www.bsebstudy.com

Or
What are realisation account? Prepare a specimen of Realisation Accounts. .

16. A, B and C were partners of profit and loss in the ratio of 3:2:1. Firm has given theirs
life insurance to all partners-A Rs. 20,000, B Rs. 15.000 and C Rs. 10,000. Premium has
separated from profit & loss account. On 31st Dec., 2011 every insurance card surrender
value was 50% of insurance amount. Prepare necessary journal entries, if A died on 31st
December, 2011, B and C take equal proportion in future. https://www.bsebstudy.com

Or

What your suggestions when any partner enter in the partnership when the assets and
liabilities are revaluated if it is that, why? Discuss its transactions in ledgers.
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17. Sarita Ltd. issued 2,000 shares at Rs. 100 per share to public. They were paid Rs. 20
an application, Rs. 40 on allotment and Rs. 50 on 1st call and final call. 2500 shares were
application received. The excess amount of application were used in allotment. All the
payable were received. Pass the journal entries in Sarita Ltd.

Or

On the issue of Debentures write short notes on calls in arrear and received in advance.

18. Current ratio 3:1 and quick ratio 1: 2: 1. If working capital is Rs. 1,80,000. The
calculate current liabilities and stock.

Or

What is cash flow statement? How it is prepared?
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